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›öìvþœ xÄy!Q!¦þ!Ýþ Ýþyßþñ
¡ìÛþ ö×!’

†!’“þ

˜#öì‰þîû ²ÌÙÀ†%!œîû vþz_îû öœöì…y õ

1. î£%›%…# vþz_îû•›Å# ²ÌÙÀ (MCQ) õ 1×4

(i) 0.2 × 0.2 =

(a) 10
2

(b) 10
4

(c) 10
22×

(d) 100
22×

(ii) 2.5 !„þ!›. =

(a) 100
5.2

 !›. (b) 2.5 × 100 !›.

(c) 2.5 × 1000 !›. (d) 1000
5.2

 !›.

(iii) ¢!àþ„þ ¢Á™„Åþ!Ýþ £öìœy

(a) 0.3
.
 < 0.33

.
(b) 0.3

.
 > 0.33

.

(c) 0.3
.
 = 0.33

.
(d) 0.3

.
 + 3 = 0.33

.

(iv) 50 ç 100éôé~îû ›•Äî“Åþ# ~„þöì‹yvþüy ¢‚…Äy ëyöì”îû †.¢y.†%. 16– ¢‚…Äyöì‹yvþüy £öìœy

(a) 16, 64 (b) 16, 80

(c) 50, 64 (d) 64, 80

2. ¢“þÄ / !›íÄy öœöì…y (T / F) õ 1×4

(i) 6, 8, 10 ç 12 !”öìëû !î¦þy‹Ä Ç%þo“þ› ¢‚…Äy!Ýþ £öìœy 6, 8, 10 ç 12éôé~îû †.¢y.†%.Ð

(ii) 3 ‹˜ ¢”¢Äë%=þ þ™!îûîyöìîûîû ¢‚…Äy 5 £öìœ– 3 ‹˜ ¢”¢Äë%=þ þ™!îûîyöìîûîû þ™!îû¢‚…Äy 5Ð

(iii) P ___________ Q– !‰þöìe PQ ~„þ!Ýþ ¢îûœöìîû…yÐ

(iv)
  !‰þöìe AD, BE ~î‚ CF ¢îûœöìîû…y‚Ÿ†%!œ ¢›!î %̈Ð

3. îy›!”öì„þîû ¢öìA† vþy˜!”„þ ö›œyç õ 1×4

(i) xyëû“þ‡˜ (a) 1!Ýþ î„Êþ“þœ
(ii) !˜öìîûÝþ ö‰þyˆ (b) 1!Ýþ ¢›“þœ ç 1!Ýþ î„Êþ“þœ

(iii) !˜öìîûÝþ x•Åöì†yœ„þ (c) 2!Ýþ ¢›“þœ ç 1!Ýþ î„Êþ“þœ

(iv) !˜öìîûÝþ ö†yœ„þ (d) 6!Ýþ ¢›“þœ
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4. ¢‚!Çþ® vþz_îû•›Å# ²ÌÙÀ õ 2×2

(i) !e¦%þöì‹îû þ™!îû¢#›y !„þÚ
!‰þöìe !e¦%þ‹!Ýþîû þ™!îû¢#›y !˜’Åëû „þöìîûyÐ

(ii) xy!› 0 öíöì„þ -6 ö†œy›Ð £z£y ¢‚…Äyöìîû…yîû ¢y£yöìëÄ ö”…yçÐ

5. ›£y‹y!“þ !î”Äy›!¨öìîûîû 150 ‹˜ Šéyöìeîû vþzþ™öìîû ¢yöì¦Åþ „þöìîû ö”…y £öìëûöìŠé ö„þy ä̃ ŠéyeŠéye# ö„þy ä̃ !î¡ìëû ¦þyöìœyöìîöì¢ ‰þ‰Åþy
„þöìîûÐ ö¢£z ¢yöì¦Åþ öíöì„þ þ™yçëûy „¤þy‰þy “þíÄ!Ýþ £öìœyéôôôé     4

!î¡ìëû ŠéyeŠéye#îû ¢‚…Äy
îy‚œy 30 1 ~„þ„þ = 5 ‹˜ ŠéyeŠéye# !˜öìëû “þíÄ!Ýþ
†!’“þ 25 öíöì„þ ~„þ!Ýþ hßþ½þ!‰þe xA„þ˜ „þöìîûy

£z‚öìîû!‹ 25
þ™!îûöìîŸ 30

£yöì“þîû „þy‹ 40

10 ö¢
!› 15 ö¢!›

18 ö¢!›


